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Arctan x Subroutine (DOI or SADOI)

Closed

25

0,1, 2
Mmmrgz"’as

20 milliseconds

Computes arctan x for =1 £ x < 1 by means of a mér

series involving Tohebyschef? polynomials,

arctan x = 2, ai!‘i(x),‘mg@ a; =0 for i evan or

vhere a, = (-1)1*3/2 (2/1) (NZT)! for 3 oaa.

(8ee Hahn, Talbes d' Integrales Definis, Table 370,7,8).

Combining coefficients of corresponding powers of x

yields ? 201 |
’ aretan :;a (=0 Gaj_“_lle e

In use, this routine replaces A by aretan A.




PARE 1

LOCATION |  ORDER NOTRS
"o ik
_, K5 1L
1 2 9L
50 ¥
2 752
4o 1F
3 5L
k2 5L
b 23 5L
50 2¢
5 77 1P
Lk (11)5
6 4o 2x
F5.5L
7 42 5L
10 108
8 32 4%
50
9 73 F
| 2(r
10 iy
|
n ¥oF 00 4997
7011 9245 J Oy = =e0062 2099 0755
12 00F 00 1913 ~ |
- L5271 613 Cps = <0019 1345 2767
13 NOF 00 4925
1097 3228 J Cpy = ~.0074 8902 6772
1 0OF 00 0186 .
0530 1864 J Chy = <0186 0530 186k
15 HOP 00 4662
6451 7594 J

Cg = =-0337 3548 2406
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LOCATION
16
17.
18

19

ORDER

OQF 00 4925
4345 382 J

NOF 00 4369 <(
9356 8948 3,

OOF 00 7589
L 137 J

NOF 00 4092
9642 4995 J
OOF 00 1110
8319 9831 J

NOF 00 3571 .éé:z
k526 7988 3

OOF 00 1999
9988 1008 J
NOF 00 1666
6666 9429 J

LOF 00 k999
9999 9981 J

NOTES PAGE 2

Oy = 40492 5434 5382

¢

C)5 = o758 9hkly 1137
gy = 40907 0357 5005
cé i 1110 €319 9831
Cy = ~eL428 5473 2012
G, = 1999 9968 1008
Cy = -.3333 3333 0571

G, = 9999 9999 99€1
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